DNA and its replication
Q4 
a) X: deoxyribose,  Y: phosphate,  b) 2400

Q5: D, Q6: D, Q7: C, Q8: D, Q9: B, Q10: C, 11: A.

Q12. A: Phosphate + deoxyribose
B. base
C. hydrogen

Q13
Revised Higher biology 2013 Q1
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Q14.
RHB 2014 Q 1b.
i) Primer, ii) ligase.
Q15. T, F anti-parallel, F phosphate
Q16: 1) 400   2) 132
17. C
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1 double strand of
nucleotides/double helix

2 deoxyribose sugar, phosphate and
base

3 sugar phosphate backbone

1 mark should be allocated for each
correct description.

No more than 5 marks should be
awarded from points 1- 7.
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4 complementary bases pair or A-T
and C-G

5 H bonds between bases

6 antiparallel structure with
deoxyribose and phosphate at 3’
and 5" ends

7 proteins/histones
8 DNA unwinds into 2 strands
9 primer needed to start replication

10 DNA polymerase adds nucleotides
to 3’ (deoxyribose) end of strand

11 DNA polymerase adds nucleotides
in one direction

12 one strand replicated
continuously, the other in fragments

13 fragments joined by ligase

No more than 4 marks should be
awarded from points 8 - 13.

Check any diagram(s) for relevant
information not present in text and
award accordingly.




